
The diagrams show four types of cell, A, B, C and D.
Two of the cells are plant cells and two are animal cells.

 

 

(a)     (i)      Which two of the cells are plant cells?

Tick ( ) one box.

A and B      

A and D      

C and D      
(1)

1

(ii)     Give one reason for your answer.

...............................................................................................................

...............................................................................................................
(1)

(b)     (i)      Which cell, A, B, C or D, is adapted for swimming?    
(1)
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(ii)     Which cell, A, B, C or D, can produce glucose by photosynthesis?    
(1)

(c)     Cells A, B, C and D all use oxygen.

For what process do cells use oxygen?

Draw a ring around one answer.
 

  osmosis photosynthesis respiration

(1)
(Total 5 marks)
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Mark schemes

(a)     (i)      C and D

no mark if more than one box is ticked
1

1

(ii)     any one from:

do not allow if other cell parts are given in a list

•        (have) cell wall(s)

•        (have) vacuole(s)
1

(b)     (i)      A

apply list principle
1

(ii)     D

apply list principle
1

(c)     respiration

apply list principle
1

[5]
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